QuesTion1  Multiply the following.

a 03x2=_ = b 005x7= c 86x%x9= d 43x6=
e 08x3= f 0.8x4= g 5.2x3= h 3.8x3=
i 07x5= j 13x5= k 6.4x7= l 86x5=
m 1.3x6-= n 3.2x4= 0 9.2%X2= p 9.25X4=
QuEsTion 4 Find these products.

a 0.2x20= b 0.8x40= c 9.3x60=

d 6.5x80= e 3.2x10= f 8.6x100=

g 5.25x1000 = h 6.18 x 10 000 = i 31.5x80=

j 6.5x90= k 53x70= [ 8.15x50=




QuEsTIONS  Multiply the following.

a 0.2x0.3= b 03x0.8= c 0.9x0.6=
d 9.2x0.3= e 0.8x0.7= f 0.6x03=
g 09x05= h 09x0.6= i 0.01x0.2=
j 0.6 x0.002= k 1.2x0.7= Ll 8.3x0.8=

QuUESTION®  Calculate the following.

a 9.01x25= b 9.25x3.1= ¢ 6.135x0.1=
d 2.364x3= e 6.87x3.6= f 8.65x1.2=
g 83x15= h 9.25x0.1= i 9.71x21=

j 5.63x03= k 9.36x0.2= l 1.25x0.4=




